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Unit Test

@Test

public wvoid testsetImagelcon(){
ImageIcon imageicon = new ImageIcon();
this.imageicon = imageicon;
assertNotNul L{this.imageicon);

¥

@Test
public void testUserInfoSettings() {
String username = "€ =";

userinfo.clear();

userinfo.add(new UserInfo());
userinfo.get(0).setlsername(username);
assertEquals(userinfo.get(@).getUsername(), "H=");

}

@Test

public wvoid testSetX() {
v.SetX(18);
assertEquals(v.getX(),18);

¥

@Test

public void testsetFlist() {
ArraylList<Boolean» flist
this.flist = flist;
assertEquals(flist,this.flist );

null;
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Unit Test

@Test

public wvoid testsetThicknum{) 1
int thicknum = 3;
this.thicknum = thicknum;
assertEquals(3,this.thicknum );

}

@Test

public woid testsetRank(){
int _rank = 5;
this.rank = rank;
agssertEbquals(5,this.rank };

b

@Test

public wvoid testSelectColorState() {
int num = 1;
painttool.setColorState(num);
assertNotNul L{painttool.getlolorState());

L

@Test

public woid testsetTlist() {
Arraylist<Thickness> tlist=null;
this.tlist = tlist;
gssertbquals(tlist,this.tlist });
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